Apartment in Gzira



Gzira, Sliema and St Julians Surroundings



€595,000

Total Rooms: 7

Bathrooms: 2

Reference No: 240091088-138



Floor Area (m²) : **126**

Bedrooms: 3

Apartment - For Sale - Gzira

A charming three-bedroom apartment with lift access. Spacious accommodation benefiting from floors of natural light and spectacular views all the way to Valletta. The property comprises a large open plan kitchen complete with fitted units and appliances, a sitting/dining area leading out to a large front terrace ideal for entertaining, 3 double bedrooms, main with en-suite facilities, a guest bathroom, and a separate laundry/ box room. The property enjoys a spectacular location within walking distance to all amenities and Sliema promenade. Forming part of a quiet residential block of 13 units. The property is being sold fully furnished to high standards. Freehold. Call your preferred agent to schedule for a viewing.

Features

- Lift
- En Suite
- ✓ A/C
- Double Glazed
- Balcony

Rooms

- Kitchen/Living/Dining : 8.6 x 5.15 m (44.29 m2)
- Open Space : 4.92 x 4.02 m (19.78 m2)
- Open Space : 7.5 x 3 m (22.5 m2)
- Double Bedroom : 4.79 x 3.11 m (14.9 m2)
- Double Bedroom : 4.62 x 2.7 m (12.47 m2)
- Double Bedroom : 5.03 x 2.7 m (13.58 m2)
- Bathroom Ensuite : 1.95 x 2.52 m (4.91 m2)
- Bathroom : 1.94 x 2.5 m (4.85 m2)
- Box Room : 2.05 x 1.06 m (2.17 m2)

- ✓ Kitchen/Dinette
- Gypsum Plastering
 - Passenger Lift
- Terrace

Gallery





































Marylene Cabal RE/MAX Crown - Sliema

M: 99949274 E: marylene@remaxcrown.com T: 21342410

RE/MAX Crown - Sliema 165, 166, 169, Tower Road, Sliema, Malta